EARAROBEEIERT — 2 N— IBISH —F

2019518148 (B) 14E=%128

BN =255 B v5%—#

(xwlw | lmEmml - |5 ) oo s

[A~&£] 17 :700,000  ~ 23&:245,000 33 :140,000 @ ~ 4 3 :105,000 @ 5 & :70,000 M

B ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
N — . KRR 145, -3-1- . — MEIEX (FH)
i 6| ILFF1T =2 # 8 X 1(4_5)3 3-3-1-1 | 39.7 1 :3:)20) /N%T:.,i(
R:xFa1z=gr— B:Js—hbvbz VR IR AN
S #o1 | EREEE 1:46.2 4-4-4-4 | 40.1| — 5 | 514 |EEE= ()
2 o| KT 4 XAH— 56.0 @ (+2) sfe=
27— bR—oa BEATZXIH—ZNI 55 Kiig
. BRANELARE : 55 - HEIEX (BF)
3 NEEIZLP 7| EEEL 1.(416>.4 6-5-5-6 | 40.1 4 (4_8er) mALY
L:BALINT Ry TX B ZX—=IN—FT X pailz:bve ]
. 5 # o5 | BIX 1:46.5 2-2-3-3 | 40.9| — 2 | 467 |fTHER (FH)
4|55 | By IKR=—A 56.0 1/2) (3 |2BEF
RiwvUsTyk Bid-RKY—7 Evdly RT7—L
— 3 4t 5 | Z8IBGA 1:46.8 1-1-1-2 | 41.3| — 3 533 | MAAREEBY (&)
] 4 7 9:*7'27'7’( ) 56.0 (1 1/2) (-5) pilEF
RO-—YXA X1 BH¥HT—A4T5Y BT 7 — L
P 44 | BRI 1:47.0 5-6-6-7 |40.4| — 6 | 491 |FEEH (FH)
6177 TIRRELT 1> 56.0 (3/4) (o) | BFHE
RHTIRIAYT BoFETE7%—3 EESAN ¢
5 S o9 | LEEE 1:47.2 7-7-7-5 | 40.4| — 7 497 | BURTIRE] (HH)
711 |¥3—¥y¥va—~ 56.0 ) (3 | B) A—b-T-2
RHA8 I —T 7 BTIATATINT— iEte
@ 1 —F—EBIE
1T=2r= 4,5,6,2,7,3,1
2R == 4,5,6,2,3,7,1
d=zr= (4,6),5,2,3,7,1
41 —F— 6,4,5,2,1,3,7
[ F/N=5
B OB 6 260 794K 2-6 6204 5= 2-6 1,440M &R 2-3-6 2,790M
% B 6 200MH 3-6 240M BHE 6-2 2,260 e 6-2-3 9,510M
2 760 2-3 670

ABICOVWTRDTEEERROODE. TR LIV,




